zaErr [asecs]

zaErr [asecs]

azErr [asecs]

azErr [asecs]

30

20

-20

—30

30

20

-20

—30

30

20

-20

—30

30

20

-20

—30

04aprO7 pntChecks (sbn) za error vs za

TB0618+ 145 004

0 5 10 15

zakrr Mean: 0.66 Rms: 3.15 za
azErr Mean: 2.49 Rms: 4.17 7Za error vs az

N HHH\H‘H\HHH‘HHHH\‘\\HHH\‘\HHHH‘HHHH\

N A T

T+

|
|
|
|
e l
|
|
|
|
|
|

|
|
|
|
|
+H +  +
|
|
|
|
|
|
0]

100 200
az

az error vs za

#

T+

HH\HH‘H\\HH\‘\HH\\H‘\H\\HH‘\HHHH‘HHHH\
+
+
+
+
+

N HHH\H‘H\HHH‘HHHH\‘\\HHH\‘\HHHH‘HHHH\

zda

az error vs az

100 200
az

0

0



zaErr [asecs]

zaErr [asecs]

azErr [asecs]

azErr [asecs]

30

20

-20

—30

30

20

-20

—30

30

20

-20

—30

30

20

-20

—30

04,02,01apr,31,30,26mar07 pntChecks (sbn) za error vs za

ETB0453+227 007
EXB0518+165_m26
ECB0O534+342_a01
EABOS534+342_m26

w

‘HHHH\‘H\HHH‘HHHH
O

344342 _m3]
BO618+145_a01

ABO758+143_m30

0

zakrr Mean:
azErr Mean:

5 10 15
za

0.75 Rms: /.34
—2.02 Rms: 5.53 7a error vs az

N HHH\H‘H\HHH‘HHHH\‘\\HHH\‘\HHHH‘HHHH\

0

T[T
¥ X

T
[
\
\
[
[
\
\
[
[
\
\
\
0

0

100 200
az
adz error vs za

= S + =
E AU - + + =
= g B BT O Ty TEx Ke X E
£ A - - - T =
E + + 3
E + 3
E- + 3

0 5 10 15 2

za
az error vs az
= | | | =
= | | =
E \ \ E
= w w E
= _ | + | E
5 A 70O NN il +4 2l =
5 R A YA\ + ot pan E
E " | o e 3
= | T 3
E \ \ =
E \ \ E
E \ \ 3
0

az

100 200



SysPerformance (sbn) Gain K/Jy

12[+B0453+227 a02
~FXB0518+165_m26

L + :
C0B0534+342 001 4T+ E
1OA R T i S
FABO534+342_m26 apsigems A o o oxw x o Tke - -
THUB0534+342_m31 |
= E
L, [AB0758+143_m30 .
0 S 10 15 20
za
Tsys
34— 3
32— 3
30— =
> - ]
— 28— E
O ]
226 -
24 DA AR AR 0 45 o g KO K E
22— =
200 . ‘ ‘ ‘ .
0 5 10 15 -
za
Sefd
5.0F -
4.5 =
)= =
}LA - —
o~ — ]
3 3.5 3
=) - .
& - —
% 3.0— —
- > — - X ¥ - 7
= DAL N X K KO L 3
2.5 + + + + .
E e * ]
20 ‘ ‘ | 3
0 10 15 -
za
AvgBmWidth
140 F ‘ .
o 130 - E
98] — 3
2, = NTRNe] + + ¥ =
£ LoE AL RO BF » éﬁ X - E
§ = B *J'ﬂ’ 3
£ = =
m = |
[@2] — 3
Z 10 =
100E__ | ! ‘ ‘ =
0 5 10 15 -

zda



